LB-40-2

01/02/2008

LB-40-2

Macca (HeTTO0)

31.8

Kg

Buemnue Pazmepnl

430*330*350

mm*mm*mm

V3en nacoca LB40-3




LB-40-2 01/02/2008
V3ea nacoca LB-40-2
K MpumeHs- | [Mo3vuusa B
oA HanmeHoBaHue
€MOCTb | JeTanvpoBKe
11131005 |BonT wkmea M10x45(JleBOCTOPOHHMI) 1 1
11124001 |UanbBa ctonopHast NeBOCTOPOHHAS @ 8 1 2
21213002 |lan6a 38 1 3
21212003 |LWkus LB40 1 4
11131004 |Bont kpenneHus M8x25 4 5
11123003 |I'paBepHas wanba & 8 28 6
21113004 |lMNepenHsis Kpbillka 1 7
21177005 |®PukcaTop canyHa 1 8
21166001 |CanyH 1 9
21152003 |lNpoknagka nepegHen KpbILLKK 1 10
21161004 |CanbHuK 1 11
21134001 MoawmnnHnk 620572 1 12
21136001 |CermeHTHas LUMNOHKA 1 13
21131005 |KoneHBan 1 14
21111011 |KapTtep 1 15
21169001 |lNpobka cnneBa macna 1 16
21164002 |Macnoykasaternb 1 17
11131001 |Bont kpenneHus kpbiikn M6x20 3 18
11123002 |I'paBepHas wanba ©6 3 19
21112003 |3agHsas KpbllKa 1 20
21155001 lMpoknagka 3agHen KpbILKN 1 21
21134003 MogwnnHmnk 6205 1 22
21167002 |lNpobka 3anuBa macna 1 23
11133001 |Bont macno pasbpbizrusatens M4x10 3 24
11123001 |UWlanb6a ctonopHas ®4 3 25
21163001 |Macnopa3sbpsbl3ruBaTens 3 26
21132005 |WaTtyH 3 27
21143002 Maney nopwHsa ®14,5x57,5 3 28
21141003 |lMNopweHb ©65 3 29
21144002 |CronopHoe konbLo ©14,7 6 30
21145003 Komnnekt konew, $65 3 31
11141001 |Wnunbka M8x35 12 32
21153001 |lMpoknagka umnuHap — kaptep 65 3 33
11111002 |lavka M8 12 34
21121004 |Uwunungp $65 3 35
21151002 Mpoknagka 6noka knanaHoB HMXHAS P65 3 36
21124003 |KnanaHHbIU 610K 8 Komriiekme P65 1 37
21154001 |lNpoknagka 6roka knanaHoB BepxHas P65 3 38
21123003 "onoBka uunuMHapa 3 39
11132004 |Bont BO3ayLuHOro cpunbtpa M8x30 6 40
11122001 MepaHas wanba O8 6 41
21175002 |®unbTp BO34YLUHbIN B cbope 3 42
11132006 BonT Kkpbiwkn 6noka ymnnHgpos M8x50 12 43
11113001 |lavka ©14,5-27 1 44
21174003 | TpowHuK 2 45
21171002 Pagunartop 2 46
21173001 |YronbHuK 1 47
21125013 |[lnacmuHbl KnanaHHbIE 8 KoMrniekme (2wm) 1 37/2
21126002 | AnromuHuesas rnpoknadka 1 37/3
21177012 |[lampoH 8033yWwHO20 ¢husibmpa 1 42/2
¥Y3ea nacoca LB-40-3
3anmuacTu uMewiue oTaudus ot LB-40-2
K MpumeHs- MNosnumnsa B
oA HanmeHoBaHue
€MOCTb | geTanvpoBke

11121011 |lWan6a dp8-¢38-5 1 3
21113011 |llepedHas KpblwKa 1 7
21178001 |dwukcaTop canyHa 1/4" 1 8
21152001 |lpoknagka nepegHen KpbILKu 1 10
21131013 |KoneHBan 1 14




LB-40-2 01/02/2008
21111026 |Kaptep 1 15
21164004 |Macnoykasatens G3/4” 1 17
11134002 |Bont macno pasbpbizrusatens M5x10 3 24
21162002 |Macnopa3sbpsbl3ruBaTens 3 26
21132004 |lWatyH ¢p30-¢p14,5-108 3 27
21124010 |KnanaHHbI 6ok B komnnekte @65 M8 1 37
21122014 "onoBka uunuMHapa 3 39
21174008 | TpowHuK 2 45
21171013 |Paguatop ¢p12x200 2 46




	LB-40-2

